



St. Louis County, Minnesota

Date of Report: 4/26/2025 10:50:31 PM

General Details

 Parcel ID:
 175-0071-03085

 Document:
 Abstract - 01431648

 Document:
 Torrens - 1050413.0

Document Date: 04/09/2021

Legal Description Details

Plat Name: MT IRON

SectionTownshipRangeLotBlock225818--

Description: PART OF SE1/4 OF SW1/4 BEG 608 FT N OF SE CORNER THENCE S 85 DEG 37 MIN 8 SEC W 1000.02 FT

THENCE N 1 DEG 46 MIN 45 SEC W 33.03 FT THENCE S 85 DEG 37 MIN 8 SEC W 344.04 FT TO W LINE OF FORTY THENCE N 625.81 FT TO NW CORNER THENCE N 84 DEG 55 MIN 56 SEC E ALONG N LINE 1332.53 FT

TO NE CORNER OF FORTY THENCE S 1 DEG 46 MIN 45 SEC ALONG E LINE 674.07 FT TO PT OF BEG

Taxpayer Details

Taxpayer Name HOLMES JEFFERY JAMES

and Address: 5119 MINERAL AVE
MT IRON MN 55768

Owner Details

Owner Name HOLMES JEFFERY JAMES

Payable 2025 Tax Summary

2025 - Net Tax \$4,058.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$4,058.00

Current Tax Due (as of 4/25/2025)

| Due May 15 | | Due October 15 | | Total Due | | |
|--------------------------|------------|--------------------------|------------|-------------------------|------------|--|
| 2025 - 1st Half Tax | \$2,029.00 | 2025 - 2nd Half Tax | \$2,029.00 | 2025 - 1st Half Tax Due | \$2,029.00 | |
| 2025 - 1st Half Tax Paid | \$0.00 | 2025 - 2nd Half Tax Paid | \$0.00 | 2025 - 2nd Half Tax Due | \$2,029.00 | |
| 2025 - 1st Half Due | \$2,029.00 | 2025 - 2nd Half Due | \$2,029.00 | 2025 - Total Due | \$4,058.00 | |

Parcel Details

Property Address: 5119 MINERAL AVE, MOUNTAIN IRON MN

School District: 712
Tax Increment District: -

Property/Homesteader: HOLMES, JEFF & HOLLY

| Assessment Details (2025 Payable 2026) | | | | | | | | | |
|--|--|-------------|-------------|--------------|-----------------|-----------------|---------------------|--|--|
| Class Code (Legend) | Homestead Status | Land EMV | Bldg EMV | Total EMV | Def Land EMV | Def Bldg EMV | Net Tax Capacity | | |
| 201 | 1 - Owner Homestead (100.00% total) | \$41,600 | \$352,500 | \$394,100 | \$0 | \$0 | - | | |
| 111 | 0 - Non Homestead | \$6,900 | \$0 | \$6,900 | \$0 | \$0 | - | | |
| | Total: | \$48,500 | \$352,500 | \$401,000 | \$0 | \$0 | 3899 | | |





St. Louis County, Minnesota

Date of Report: 4/26/2025 10:50:31 PM

Land Details

Deeded Acres: 20.25 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

| e dimensions shown are nos://apps.stlouiscountymn. | ot guaranteed to be s .gov/webPlatsIframe/ | survey quality. <i>F</i> frmPlatStatPop | Additional lot Up.aspx. If t | information can be here are any quest | e found at ions, please email <mark>Proper</mark> | tyTax@stlouiscountymn.gov |
|--|---|--|---------------------------------|--|--|---------------------------|
| | | Improvem | ent 1 Deta | ails (RESIDEN | CE) | |
| Improvement Type | Year Built | Main Floor Ft ² | | Gross Area Ft ² | Basement Finish | Style Code & Desc |
| HOUSE | 0 | 1,83 | 34 | 2,414 | - | 1S+ - 1+ STORY |
| Segment | Story | Width | Length | Area | Found | dation |
| BAS | 1 | 8 | 16 | 128 | FLOATIN | NG SLAB |
| BAS | 1 | 14 | 28 | 392 | FLOATING SLAB | |
| BAS | 1 | 22 | 27 | 594 | FLOATIN | NG SLAB |
| BAS | 1.5 | 14 | 20 | 280 | FLOATIN | NG SLAB |
| BAS | 2 | 20 | 22 | 440 | FLOATING SLAB | |
| OP | 1 | 6 | 12 | 72 | FLOATING SLAB | |
| Bath Count | Bedroom Co | ount | Room C | Count | Fireplace Count HVAC | |
| 1.75 BATHS | 3 BEDROOI | MS | - | | 1 | C&AIR_COND, PROPAN |
| | | Improve | ment 2 D | etails (DG/LAG |) | |
| Improvement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Des |
| GARAGE | 0 | 1,50 | 00 | 1,500 | - DETACHEI | |
| Segment | Story | Width | Length | Area | Found | dation |
| BAS | 1 | 30 | 50 | 1,500 | | - |
| DKX | 1 | 15 | 24 | 360 | POST ON GROUND | |
| LAG | .5 | 30 | 50 | 1,500 | | - |
| | | Improveme | nt 3 Deta | ils (DET GARA | GE) | |
| Improvement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Des |
| GARAGE | 1983 | 61 | 6 | 616 | - | DETACHED |
| Segment | Story | Width | Length | Area | Found | dation |
| BAS | 1 | 22 | 28 | 616 | FLOATIN | IG SLAB |
| | | Improver | ment 4 De | etails (GAZEBO | 0) | |
| Improvement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Des |
| GAZEBO | 0 | 98 | 3 | 98 | - | - |
| Segment | Story | Width | Length | Area | Found | dation |

Improvement Type

STORAGE BUILDING

BAS

Segment

BAS

Year Built

1985

Story

Style Code & Desc.

POST ON GROUND

Foundation

FLOATING SLAB

Basement Finish

Improvement 5 Details (RED ST)

Length

40

Gross Area Ft 2

800

Area

800

Main Floor Ft ²

800

Width

20





St. Louis County, Minnesota

Date of Report: 4/26/2025 10:50:31 PM

| | | • | • | PLAYHOUSE) | | | | |
|--------------------|------------------|------------------------|---|-------------------------|--------------------|----------------|---------------------|--|
| Improvement Ty | pe Year Buil | Main Flo | oor Ft ² Gros | ss Area Ft ² | Basement Finish | Style | Code & Desc. | |
| STORAGE BUILDING 0 | | 64 | 64 128 | | | | | |
| Segment Story | | | Length Area | | Foundation | | | |
| BAS | | 8 | 8 | 64 | POST ON | | | |
| DK> | 1 | 3 | 10 | 30 | POST ON (| GROUND | | |
| | | Improve | ement 7 Detail | s (OLD ST) | | | | |
| Improvement Ty | pe Year Buil | Main Flo | Main Floor Ft ² Gross Area F | | Basement Finish St | | Code & Desc. | |
| STORAGE BUILD | ING 0 | 14 | 140 140 | | | | | |
| Segm | ent Sto | y Width | Length | Area | Found | Foundation | | |
| BAS | 1 | 10 | 14 | 140 | POST ON | POST ON GROUND | | |
| | | Sales Reported | to the St. Lou | uis County Au | ditor | | | |
| s | ale Date | | Purchase Pric | е | CF | RV Number | | |
| 1 | 11/2004 | \$215,000 (| This is part of a m | ulti parcel sale.) | | 162511 | | |
| (| 07/1995 | | \$115,750 | 5,750 | | | 104707 | |
| | | A | ssessment Hi | story | | | | |
| Class | | | | | Def Def | | | |
| Year | Code (Legend) | Land EMV | Bldg EMV | Total EMV | Land EMV | Bldg EMV | Net Tax Capacity | |
| | 201 | \$41,600 | \$344,800 | \$386,40 | 0 \$0 | \$0 | - | |
| 2024 Payable 2025 | 111 | \$6,900 | \$0 | \$6,900 | \$0 | \$0 | - | |
| 20211 ayabib 2020 | Tota | \$48,500 | \$344,800 | \$393,30 | 0 \$0 | \$0 | 3,815.00 | |
| | 201 | \$41,600 | \$358,400 | \$400,00 | 0 \$0 | \$0 | - | |
| 2023 Payable 2024 | 111 | \$6,900 | \$0 | \$6,900 | \$0 | \$0 | - | |
| | Tota | \$48,500 | \$358,400 | \$406,90 | 0 \$0 | \$0 | 4,057.00 | |
| | 201 | \$41,600 | \$331,100 | \$372,70 | 0 \$0 | \$0 | - | |
| 2022 Payable 2023 | 111 | \$6,900 | \$0 | \$6,900 | \$0 | \$0 | - | |
| | Tota | \$48,500 | \$331,100 | \$379,60 | 0 \$0 | \$0 | 3,759.00 | |
| | 201 | \$29,800 | \$286,600 | \$316,40 | 0 \$0 | \$0 | - | |
| 2021 Payable 2022 | 111 | \$6,200 | \$0 | \$6,200 | \$0 | \$0 | - | |
| | Tota | \$36,000 | \$286,600 | \$322,60 | 0 \$0 | \$0 | 3,138.00 | |
| | | 1 | Γax Detail His | tory | | | | |
| | | | Total Tax & | | | | | |
| Tax Year | Tax | Special Assessments | Special Assessments | Taxable Lar | Taxable Bu | | Total Taxable MV | |
| 2024 | \$4,212.00 | \$0.00 | \$4,212.00 | \$48,37 | | 39 | \$405,660 | |
| 2023 | \$4,046.00 | \$0.00 | \$4,046.00 | \$48,08 | 7 \$327,81 | 16 | \$375,903 | |
| 2022 | \$3,824.00 | \$0.00 | \$3,824.00 | \$35,17 | 5 \$278,66 | 31 | \$313,836 | |





St. Louis County, Minnesota

Date of Report: 4/26/2025 10:50:31 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.